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MR fr K £ OuT IN GROSS | HDCP NET
*1 B i 36 40 716 | 12.0 | 64.0
*2| BA KR 39 36 75 | 10.7 | 643
*3 =% BF 37 39 /6 | 10.6 | 654
* 4]  HRER FRIE 41 39 80 | 134 | 66.6
*5 AKH 36 43 79 [ 12.0 | 670
6 =% &l 38 46 84 | 16.1 | 67.9
*7)  PF9H #EiE 42 43 85 | 163 | 68.7
8 T YOF 45 40 85 | 16.1 | 68.9

9| KLU =& 41 39 80 [ 10.9 | 69.1
*10| Rl IEJR 40 37 11 7.8 | 69.2
1) @EFx ®)a 42 42 84 | 146 | 694
12) EA #X 39 39 18 8.5 | 695
13| #WMT AE 40 44 84 | 145 | 695
14 ki F= 41 43 84 | 140 | 70.0
*15)  fHE #EX 40 43 83 [ 12.7 | 703
16) FHFIL EX 43 41 84 | 133 | 70.7
17, KR B 38 44 82 | 11.2 | 70.8
18 THik #= 44 45 89 [1/8 | 71.2
19) KEKXR #ES 45 42 87 | 146 | 724
*20) W —ER 44 41 85 [ 123 | 72.]1
21 KWl 18§ 42 44 86 | 133 | 72.7
22l Hl BE— 40 39 79 0.8 | 713.2
23| fai PE— 42 46 88 | 144 | 73.6
24 RHEA A% 46 45 91 [ 17.2 | 73.8
*25|  IpEE GEER 45 45 90 | 16.0 | 74.0
260 HFH RE 45 45 90 | 15.7 | 743
21| R BF 45 46 91 | 156 | 754
280 KE BR— 40 40 80 | 43 | 75.7
29| /MUHE B— 43 44 87 [ 11.2 | 758
*30| HF BER 42 44 86 | 99 | 76.1
311 RAE HE 46 48 94 | 174 | 76.6
32 TH —F 44 45 89 [ 120 | 770
33 ARE & 42 46 88 | 108 | 77.2
34 thH Sk 46 44 90 [ 124 | 716
*35| il STk 46 45 91 [ 132 | 718
36, fEH FhK 45 46 91 [ 12.7 | 783
87 WA KR 49 48 97 [ 175 795
38| HRIg A 52 43 95 [ 15.1 | 799
39| #\E BA 50 417 97 [ 17.0 | 80.0
*40  #EHF EA o1 45 96 | 15.5 | 80.5
M Wl 58 48 47 95 | 143 | 80.7
2] FFE KBS 48 52 100 | 17.0 | 83.0
8| Kim E— 49 417 96 | 120 | 84.0
44 HIE & 46 59 101 | 11.8 | 89.2
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g £ K & OU_T E GFSOSS _HDCP NET
* 1| B|/HF {E— 45 36 81 [21.1 [59.9
*2| =[E EB 42 42 84 [228 |61.2
% 3 7 XE 42 45 87 [23.1 [63.9
*4 M FEaR 45 43 88 [21.3 |66.7
*5 FfFF =B 42 44 86 [ 186 |67.4

6]l TBE Z— 42 44 86 |[18.2 [ 67.8
*7| BhiE = 44 44 88 [20.1 [67.9
8| iX*H — 4] 44 91 [21.9 |69.1
of X¥f & 42 47 89 [19.7 169.3
10] $RH s 43 48 91 [21.4 |69.6
11| gk FE | 45 48 93 (225 [ 705
12 Kb AF 48 46 94 1234 [70.6
18] HF =F 49 49 98 [26.7 | 71.3
14| HO BE= 45 48 93 (215 [ 715
%15 URF I 45 46 91 [194 [ 716
16 IR BT 46 44 90 [18.1 | 71.9
17] B Z—8B | 4] 43 90 [18.0 | 72.0
18] H0O *’ﬁ% 43 48 91 [18.7 [ 723
19] K = 4] 46 93 [20.1 [72.9
*20 LUTF BT 4] 50 97 1240 |73.0
21| E¥A@E #8— | 48 47 95 [21.9 | 73.1
22| IRt HT 51 54 | 105 [ 31.9 | 73.1
23] B/K Em 45 49 94 [20.7 1733
2] Bt hUWF | 46 46 92 [18.3 | 73.7
*25 =B %9\ 4] 48 95 [21.3 |73.7
26 P SHB 46 51 97 123.0 [74.0
2711 #H E1T 48 47 95 [20.7 [74.3
28] EA IBEF 52 50 [ 102 [ 275 | 745
29 & 4] 49 96 [20.8 | 75.2
*30| EEh #— 49 49 98 [225 | 755
3 HE BHxX 50 46 96 [ 195 | 76.5
32| FH =F{ | 48 48 96 [19.4 | 76.6
33| &M @E 48 51 99 [224 |76.6
34| =Xk ,_%% 4] 51 98 [21.2 | 76.8
#*35| KIf § 48 52 | 100 [ 22.8 [ 71.2
36] Ak 1245_: 47 54 | 101 [ 231 [ 719
371 BEH EZE 4] 55 [ 102 [22.9 | 79.1
38| AmK L 54 52 | 106 | 26.4 | 79.6
39] B BiE 58 44 | 102 | 22.2 | 79.8
*40  E5FI E',A 49 58 1 107 [ 27.1 [79.9
Ml ¥ 46 54 [ 100 | 19.8 | 80.2
42| R XF 51 54 | 105 | 23.3 | 81.7
43| AR B— 52 58 | 110 | 26.8 | 83.2
R 7 FIEX - - - - -
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